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FiR=X5 %ﬁﬁ% KB (FFD JAL JAL 40,000 24% 23@00 16%)00 2
— An% | KBRUFFD JAL JAL 40,000 24% 16,300 | 23.700
FBE=Ek5 TE% | KRUFH) JAL | JAL 43,000 27% 22.700 | 20,300
RIG% | KBR(F) JAL JAL 43,000 27% 20300 | 22.700
=& ZEE K (F) JAL | JAL 42,000 26% 23.000 | 19,000
. 3 PN ACGEE)) VAL | AL 42,000 26% ' '
— = : J A 19,000 | 23,000
RN jrﬁ%ﬁé ABR (FFH JAL JAL 42,000 26% 23,000 | 19,000
Zla% [ KR(FR) JAL | JAL 42,000 26% 19.000 | 23,
HE=FERE B ) JAL JAC 43.000 29% 22.300 20'(7)38
e j':f jAL 43,000 29% 20,700 | 22,300
AL 35,000 38% 15,000 | 20,000
e JAL JAL 35,000 38% 20,000 | 15,000
jﬁt jﬁt 36,000 37% 15,200 | 20,800
E=LEEH JAL AL #0000 o 25900 24300
! (]
e JAL JAL 40,000 34% 24,100 | 15,900
= JAL JAL 37,000 36% 15,500 | 21,500
e JAL JAL 37,000 36% 21,500 | 15,500
jﬁt jﬁt 34,000 39% 14,700 | 19,300
__ 34,000 39% 19,300 | 14
Ny = \ - 700
MA=T JAL JAL 35,000 37% 15,100 | 19,900
e JAL JAL 35,000 37% 19,900 | 15,100
JAL JAL 37,000 36% 15,500 | 21,500
e JAL JAL 37,000 36% 21,500 | 15,500
jﬁt jﬁt 37,000 36% 15,300 | 21,700
MA=ILAM JAL | _JAL 45000 S 2 o0 T e a0
TEAME JAL JAL 43.000 325 AR
SRR LAM: JAL JAL J A 26,600 | 16,400
L JAL JAL 42,000 32% 16,400 | 25,600
0/
TR 2% JAL JAL 42,000 32% 25,600 | 16,400
45,000 31% 16,600 | 28,400
= RIGH JAL JAL 45,000 31% 28.400 '
A=A INER T JAL JAL ' Y ' 32500
L JAL JAL :3,000 32% 16,400 | 26,600
sin %
S JAL JAL 43.000 o AR
IMA=FERE INERFE JAL JAL 45.000 gf;ﬂ fg'ggg ;gngg
! (]
e BEREH JAL JAL 45,000 31% 28,400 | 16,600
=R ZHI% JAL | JAC 27.700 y ' '
Bl JAC JAL 27.700 o TR AR
_ 0/
BEAB=—5m | BZABR JAC | _JAC 19,650 35? 12238 1753)5000
S 5im% JAC JAC 19,650 27% 7,050 12,600
BERB= /KRB BEABE JAC | JAC 16800 __43% 9,750 7,05
. I ~;=P7?<E<’.fil}% JAC JAC 16:800 43% 7.050 9'753
(B =5 & ;q:ﬁ;(%rs?% JAL/JTA|  JAL 54,000 28% 30,800 | 23,200
i _ JAL _|JAL/JTA 54,000 7 ' '
i (RER) ==R Hﬂ%%(ﬁﬂ;)% JAL/JTA]  JAL 54,000 gg;: g’ﬁgg gg,ggg
i _ =R JAL _[JAL/JTA 54.000 Y ' '
i (FRER) =7 A ;qﬂﬁi A( ﬁﬂ;) % JAL/JTA]  JAL 52.000 gg;: gg,ggg 2(1)'(1)38
_ (H JAL _|JAL/JTA 52.000 J ' '
i (FRER) =1LFe iqﬂﬁu_(lﬁﬂgs)% JAL/JTA]  JAL 52.000 %g;: gg,ggg ?g,ggg
o5 JAL _[JAL/JTA 52, : '
R =5 3 =5 ZYO i
AR =8 R % JTA | JAL 7800 o 20800 T 32900
nWax JAL JTA ' ' '
i _ ] % 52,800 °
i (FRER) =/ ;%%J(?Bﬁ)% JAL/JTA]  JAL 48,000 gg;: 2(2)'(7)38 fgvggg
INAZ JAL _[JAL/JTA 48, : :
i — S ,000 7
iR (R == %0 ;%@(2&5)% JTA JAL 32,400 ig;: :;ggg ?gqgg
i SEE JAL JTA 32.40 Y : :
e (FRER) =l ;‘%?(ﬁﬂ?ﬁ)% JTA JAC 44'008 j‘ﬁ,,j: ;i,;gg :;ggg
I JAC | JTA ' ' :
I ¥ 44,000 7
HR(CAR)=EXXE|RR(CHA)F JAL JAC 45,800 ;?;: ;gggg fgyggg
JAL JAL 45,800 27% ' '
BEXREH JAC JAL 45,800 3w: :;ggg %ggg
_ _ _ JAL JAL 45,800 Y ' '
HR(PR) =E/RE Eﬁi(ﬂﬂﬂi)% JAL JAC 45350 g;: %,ggg };,goo
EREH JAC JAL 45.350 31% 19,050 26'338
_ ] _ JAC JAL 45,350 y ' '
RECHE) =Sz 5|RRCHA) % JAL JAC 46,950 gg;: 286135000 2(7),228
JAL JAC 47,800 23% ' '
mEEH JAC JAL 46,950 33W: %’238 ;g,ggg
_ _ _ JAC JAL Y : '
BRCHE) = KB R CHE) & JAL_|_JAC j;igg ggf ;g'ooo 3205
K BERF JAC JAL 48:350 32W: 22'338 gg,ggg
_ _ JAC JAL 48,350 7 ' '
AR (PA) =5@ AR CHA) % JAL_|_JAC 48.750 gg;: ;gggg 2221128
BER% JAC JAL 48,750 32% 22.450 | 26,300
— jﬁg :JJAL 48,700 28% 17.500 | 31.200
AC JAL '
KBR () =EEXS| KR FFH) H JAC JAC :g';gg gg:;n 261'310000 :;ggg L2
ﬁ i) 0 i) i)
ESN-E JAC JAC 40,700 25% 19,600 | 21,100
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3A278 ~3A31 B RAIRMEIS EEE IAL/STA/IAC/RAC
= D °__ 4= N=oRE 4=
[ZFEﬁ ﬁEEﬂt‘.@ ﬁEEﬂt‘.@ nxizz*i 3/27-3/31 ‘:E“g?zgi ﬁ%% Eﬂgﬁ Eﬂgﬁ Eﬂgﬁ

EED | EEQ | EE® i @D @ ©)
KR (B =ERE[XKR(EM ] EERS JAC JAC 40,600 24% 21,100 [ 19,500
TEXE JAL JAC 40,600 15% 32,450 | 8,150
EREH BERS JAC JAC 40,600 24% 19,500 | 21,100
TEXE JAC JAL 40,600 15% 8,150 | 32,450
AR () =EZ B[ XKREM X ERS JAC JAC 42,100 27% 21,100 [ 21,000
BB BERS JAC JAC 42,100 27% 21,000 | 21,100
TEXE JAC JAL 42,900 17% 10,000 | 32,900
KBR () =k BRE|RARFHE| ERS JAC JAC 43,250 26% 21,100 | 22,150
KRR | EREE JAC JAC 43,250 26% 22,150 | 21,100
K (B =5% [KIR(ERDE] ERE JAC JAC 43,650 27% 21,100 | 22,550
ER% BERS JAC JAC 43,650 27% 22,550 | 21,100
RE=EXXE fEmES ERE JAC JAC 32,750 29% 13,300 | 19,450
TEAERE | ERE JAC JAC 32,750 29% 19,450 | 13,300
RE=ER5 FE RS ERE JAC JAC 33,650 25% 13,300 | 20,350
TEXE JAC JAC 33,650 19% 25,800 | 7,850
EREHE BERS JAC JAC 33,650 25% 20,350 | 13,300
RE=Ez5 EERES ERE JAC JAC 34,150 31% 13,300 | 20,850
TEXE JAC JAC 34,150 25% 24,000 | 10,150
E2EH BERS JAC JAC 34,150 31% 20,850 | 13,300
_ _ TEXE JAC JAC 34,150 25% 10,150 | 24,000
fakE =k RED FEmES ERE JAC JAC 35,300 30% 13,300 | 22,000
HKRERE | EREE JAC JAC 35,300 30% 22,000 | 13,300

0/

FE=sH | mEE [ hen JAe G AT 15300 52400
BimsE BEXE JAC JAC 35,700 31% 13,800 | 21,900




4ﬁ 18 ~5ﬁ 318 rﬁﬂ“iﬁ%ﬂﬂjﬁﬁi JAL/JTA/JAC/RAC
P S/ 4= B 4E
XfH FEith@ | #HE1O BRERH 4/1-5/31 %;% e EE%E EEE EEX

EED | EEQ | EE® i @ @ ©)
HRCHE) =8t |[EECHH)Z|+ 4 (AE) JAL/JTA[JTA/RAC 55,500 5% 38,800 | 16,700
Ea% AR5 JTA/RAC[JAL/JTA 55,500 5% 16,700 | 38,800
HRECHE) =R |RERCHA) |44 (AEH) JAL/JTA] JTA 59,300 7% 37,900 | 21,400
ABR (B97E) JAL JTA 59,300 16% 18,800 | 40,500
RIEH |[H4E G5 JTA  [JAL/JTA 59,300 7% 21,400 | 37,900
ABR (B97E) JTA JAL 59,300 16% 40,500 | 18,800
AR (7 =25 81 | KR (R % | R]R (FH) JAL JAL 43,500 32% 15,400 | 28,100
ZiEnlF | EECHH) JAL JAL 43,500 32% 28,100 | 15,400
IR F TR JAL JAL 43,500 31% 14,800 | 28,700
AR (BPE) =& Al | XBR (BIFE) 5| 4LIE B F &%) JAL JAL 43,500 31% 28,700 | 14,800
ZimBlFE (AR T JAL JAL 43,500 31% 14,800 | 28,700
KB (FFH =8I | KB R F1) # [ RE CHE) JAL JAL 40,900 34% 14,800 | 26,100
JENIE I E 354 €E]:=:)) JAL JAL 40,900 34% 26,100 | 14,800
KBx (B87E) =78JIl | KPR (BE7E) | RE CHH) JAL JAL 40,900 34% 14,800 | 26,100
JETTE I E 354 €E]:=:) JAL JAL 40,900 34% 26,100 | 14,800
KB (77 =8IB% | KPR RF1) F [ RE CHEH) JAL JAL 41,400 33% 15,200 | 26,200
HEEFE |RECHIH) JAL JAL 41,400 33% 26,200 | 15,200
KB (FFH =5 | KR R # (R CHE) JAL JAL 40,300 34% 14,900 | 25,400
wIRFE  |BE(CHE) JAL JAL 40,300 34% 25,400 | 14,900
ABx (BPE) =FI5 AN ESCE:D) JAL JAL 40,300 34% 25,400 | 14,900
KB (771 =BEfE | KBR (R F1) # [ RE CHEH) JAL JAL 41,300 23% 17,200 | 24,100
EEEH |[FE(CHHE) JAL JAL 41,300 23% 24,100 [ 17,200
KB (FFH ==R | KB R F1) F [ RE CHEH) JAL JAL 37,800 27% 16,400 | 21,400
=ZR¥ |HE(CHH) JAL JAL 37,800 27% 21,400 | 16,400
ABx (BiFE) ==iR =ZR¥ |HECHH) JAL JAL 37,800 27% 21,400 | 16,400
KR () =Rl | RERUFHHE| HE JAC JAC 20,500 35% 11,400 | 9,100
EGE HE JAC JAC 20,500 35% 9,100 | 11,400
AR (F =BFE | XREMH| BES JAC JAC 32,600 17% 21,600 | 11,000
BEIEH BERS JAC JAC 32,600 17% 11,000 | 21,600
KB (FFH ==& | KB R F [k (5 JAL _[JTA/RAC 43,000 17% 28,400 | 14,600
Ea% A8 JTA/RAC]  JAL 43,000 17% 14,600 | 28,400
KBx (BfE) == | KB (BEFE) | 44E (FE) JAL/JTA[JTA/RAC 43,000 17% 28,400 | 14,600
Ea¥ A8 JTA/RAC[JAL/JTA 43,000 17% 14,600 | 28,400
KR (B =R1E [XRUEFR) X[ T4 FRH) JAL JTA 48,400 15% 28,900 | 19,500
RiEHK | (FRE) JTA JAL 48,400 15% 19,500 | 28,900
KR (BEfE) =R1E [XR(EH) FK[ T4 (BRH) JAL/JTA| JTA 48,400 15% 28,900 | 19,500
RiEH  |H4E () JTA  [JAL/JTA 48,400 15% 19,500 | 28,900
ZHE (PE) =% 55 | B EE (hE6) 5| 4Lk T a) JAL JAL 39,800 32% 25,300 | 14,500
ZimRFE (AR FHTFH) JAL JAL 39,800 32% 14,500 | 25,300
ZHE(PEH) =2%|a5E G FEGREH) JTA _[JTA/RAC 44,000 22% 30,300 | 13,700
Ea% [ JTA/RAC] JTA 44,000 22% 13,700 | 30,300
ZEE(PE) =F1E[a5EH P EGREH) JTA JTA 53,000 14% 33,200 | 19,800
RiEH |4 () JTA JTA 53,000 14% 19,800 | 33,200
IR (FrFm) =/MALIR ) R == CAH) JAL JAL 33,500 40% 20,300 | 13,200
IS BRECHE) JAL JAL 33,500 40% 13,200 | 20,300
ALIR (FrF %) =R [ALIE ) | = CAE) JAL JAL 35,000 45% 18,400 | 16,600
FELLFE [RFECHH) JAL JAL 35,000 45% 16,600 | 18,400
R EFHFR) =LB[ LR FEFR X[ TR (FH) JAL JAL 36,000 44% 18,800 | 17,200
LEE% |[HFE(CHH) JAL JAL 36,000 44% 17,200 | 18,800
IR FTF &) = L08R & F &) %[ HE CHE) JAL JAL 42,000 38% 20,700 | 21,300
WOFEF [R/ECHHA) JAL JAL 42,000 38% 21,300 | 20,700
IR (T =HE[FREEFTH) X[ FE=CAE) JAL JAL 37,400 42% 19,300 | 18,100
HEHX [RECHH) JAL JAL 37,400 42% 18,100 | 19,300
R EFHFR) =EES IR FHFR X[ TR (FH) JAL JAL 39,000 38% 20,700 | 18,300
mEX |FE(CHH) JAL JAL 39,000 38% 18,300 | 20,700
IR (FrFm) == LR Fs) ®[E== CAR) JAL JAL 39,900 37% 21,200 | 18,700
BW%  |FFECHHE) JAL JAL 39,900 37% 18,700 | 21,200
IR (TR == 5 LR %) %[ FE= CAE) JAL JAL 41,400 36% 21,400 | 20,000
=HE  |[ERERCHH) JAL JAL 41,400 36% 20,000 | 21,400
AR EFF) =R AR FFR) X[ TR BH) JAL JAL 43,700 33% 22,400 | 21,300
WL  |FFECHE) JAL JAL 43,700 33% 21,300 | 22,400
IR EFTFH) =AM R FEF) R[ER CHH) JAL JAL 42,000 40% 20,000 | 22,000
JdEAMFE |HECIHA) JAL JAL 42,000 40% 22,000 | 20,000
IR (TR =K49 LR F%) %[ F= CAE) JAL JAL 42,000 39% 20,400 | 21,600
An%  |[HE(CHHE) JAL JAL 42,000 39% 21,600 | 20,400
AR FHFR) =R LR FFR) X[ TR (FH) JAL JAL 44,000 39% 20,400 | 23,600
REIG% |[BECHHE) JAL JAL 44,000 39% 23,600 | 20,400
LR (B F ) =BEA AR ) %[ = CHE) JAL JAL 43,000 39% 20,500 | 22,500
REAH |HE(CHH) JAL JAL 43,000 39% 22,500 | 20,500
LR (FF) =S [ ALIE ) %[ = CAE) JAL JAL 44,000 37% 21,000 | 23,000
EIEH  [RECHHE) JAL JAL 44,000 37% 23,000 | 21,000
IR (FFR) =EREALIEFFH) ¥ [HR CHH) JAL JAL 49,000 32% 22,700 | 26,300
BEREH [RECHH) JAL JAL 49,000 32% 26,300 | 22,700




ol
4ﬁ 18 ~5ﬁ 318 rﬁﬂ“iﬁ%ﬂﬂjﬁﬁi JAL/JTA/JAC/RAC
AP = 4E SEAE 1=
XfH FEith® | #HE0O BRERHT 4/1-5/31 %;% sz EE%E EE%E EEH

EED | EEQ | EE® i @D @ ©)
IR FR) =il (3% [ LI (FF ) %Rz (/) JAL _[JAL/JTA 51,200 31% 23,100 | 28,100
ABR (B97E) JAL [JAL/JTA 51,200 32% 28,000 | 23,200
ZHE (hEh) JAL JTA 51,200 33% 25,200 | 26,000
fak JAL JTA 51,200 35% 33,300 | 17,900
s (FRER) F | _E CHH) JAL/JTA]  JAL 51,200 31% 28,100 | 23,100
ABR (B97E) JAL/JTA| JAL 51,200 32% 23,200 | 28,000
ZHE (hEh) JTA JAL 51,200 33% 26,000 | 25,200
fak JTA JAL 51,200 35% 17,900 | 33,300
e =% a5 mEFE  |[EECIH) JAL JAL 52,100 33% 24,600 | 27,500
IR FF %) JAL JAL 52,100 28% 36,700 | 15,400
ZmAlFE | RmECHH) JAL JAL 52,100 33% 27,500 | 24,600
IR FF %) JAL JAL 52,100 28% 15,400 | 36,700
fER=1E)I| wmEE  [EmA) JAL JAL 52,100 32% 25,100 | 27,000
JENTE L S-A€E JAL JAL 52,100 32% 27,000 | 25,100
BE =815 R |ERE JAL JAL 52,100 31% 25,300 | 26,800
HEEFE |EHRE JAL JAL 52,100 31% 26,800 | 25,300
&k =% mEFE  |ERE JAL JAL 52,100 31% 25,500 | 26,600
N E 3 JAL JAL 52,100 31% 26,600 | 25,500
tafE =K EE faEFE |RECHH) JAL JAL 51,100 25% 27,500 | 23,600
EEEH |BE(CHHE) JAL JAL 51,100 25% 23,600 | 27,500
RE=F% mEFE  |EECIH) JAL JAL 42,900 36% 23,600 | 19,300
AR (FFH JAL JAL 42,900 27% 16,000 | 26,900
A% [ EEHH) JAL JAL 42,900 36% 19,300 | 23,600
AR (FFH JAL JAL 42,900 27% 26,900 | 16,000
BE==R fmEFE  |RECHH) JAL JAL 42,400 36% 23,500 | 18,900
=ZR%¥ |HE(CHH) JAL JAL 42,400 36% 18,900 | 23,500
Rk =1E% arFE | KRR JAL JAL 41,400 27% 15,900 | 25,500
EEHK | KIRUFFD JAL JAL 41,400 27% 25,500 | 15,900
B =FH EEXE |B2=(PH) JAL JAL 42,300 31% 25,300 | 17,000
MEFE |EECIH) JAL JAL 42,300 31% 17,000 | 25,300
AR (FFH JAL JAL 42,300 23% 25,400 | 16,900
fakE = L% mEFE  |[EECHH) JAL JAL 37,000 33% 24,700 | 12,300
AR (FFH JAL JAL 37,000 31% 15,100 | 21,900
s | R=ECHA) JAL JAL 37,000 33% 12,300 | 24,700
ABR (FFH JAL JAL 37,000 31% 21,900 | 15,100
Rk =R amFE | KRR JAL JAL 37,000 27% 15,900 | 21,100
;inF | KBRUFFD JAL JAL 37,000 27% 21,100 [ 15,900
B =/ T REIESAEED) JAL JAL 36,800 37% 23,000 | 13,800
VA BR CHE) JAL JAL 36,800 37% 13,800 | 23,000
rRE==q mmEFE | GRE) JTA _[JTA/RAC 38,000 16% 23,200 | 14,800
Ea% [ JTA/RAC]  JTA 38,000 16% 14,800 | 23,200
EH=0a18 B |4 () JTA JTA 38,700 23% 21,100 | 17,600
RiEE  |HEE(FBH) JTA JTA 38,700 23% 17,600 | 21,100
Al =IlE ZHAHE AR EFTFR JAL JAL 30,500 39% 13,100 | 17,400
= ALIR (BT F %) JAL JAL 30,500 39% 17,400 | 13,100
Al =/ Zimnl % | ERECHE) JAL JAL 41,200 35% 26,900 | 14,300
INVAFE B (T JAL JAL 41,200 35% 14,300 | 26,900
i Al =R L ZimnlF | RECH JAL JAL 45,000 37% 26,000 | 19,000
EIIE:S = JAL JAL 45,000 37% 19,000 | 26,000
TBJI =M JENIES JAL JAL 39,600 36% 25,500 | 14,100
IV FE JAL JAL 39,600 36% 14,100 | 25,500
HBJI="Fe L JENIES JAL JAL 45,000 35% 25,500 | 19,500
[ LI 3 JAL JAL 45,000 35% 19,500 | 25,500
IR =/ IR JAL JAL 39,000 36% 25,000 | 14,000
IV FE JAL JAL 39,000 36% 14,000 | 25,000
SIE% =1L R JAL JAL 45,000 35% 25,400 | 19,600
IS JAL JAL 45,000 35% 19,600 | 25,400
L=/ IR JAL JAL 38,500 36% 24,500 | 14,000
IV FE JAL JAL 38,500 36% 14,000 | 24,500
L =Rl N JAL JAL 45,000 34% 25,200 | 19,800
EIIES JAL JAL 45,000 34% 19,800 | 25,200
BEEE=/M2 AR JAL JAL 34,100 36% 20,100 | 14,000
IV FE JAL JAL 34,100 36% 14,000 | 20,100
BREE =& 1L AR JAL JAL 44,000 28% 22,500 | 21,500
EIIES JAL JAL 44,000 28% 21,500 | 22,500
BEREE=db AL BEESH JAL JAL 40,500 41% 18,700 | 21,800
LA F JAL JAL 40,500 41% 21,800 | 18,700
EEE=X% IR JAL JAL 40,500 40% 19,000 | 21,500
PN JAL JAL 40,500 40% 21,500 | 19,000
EEE=RIF IR JAL JAL 42,000 40% 18,800 | 23,200
RIG JAL JAL 42,000 40% 23,200 | 18,800
EfE=FEX BHEES JAL JAL 42,000 38% 19,400 | 22,600
REARH JAL JAL 42,000 38% 22,600 | 19,400
HEE=2IF AR JAL JAL 42,000 38% 19,400 | 22,600
I F JAL JAL 42,000 38% 22,600 | 19,400
HE=ERS AR JAL JAL 43,000 39% 19,200 | 23,800
BERESH JAL JAL 43,000 39% 23,800 | 19,200
BEHR=/R EHH JAL JAL 32,000 38% 18,500 | 13,500
I [RECHE) JAL JAL 32,000 38% 13,500 | 18,500
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P = SEFAE SEAE SHAE
XfH FEith® | #HE0O BRERHT 4/1-5/31 %;% sz EE%E EE%E EEH

EED | EEQ | EE® i @D @ ©)
EHR=RL % |[ER®® JAL JAL 36,000 40% 18,000 | 18,000
IS = JAL JAL 36,000 40% 18,000 | 18,000
BEHR=LS EHH JAL JAL 37,000 39% 18,300 | 18,700
LE% JAL JAL 37,000 39% 18,700 | 18,300
EHF=LOFH EHH JAL JAL 39,000 40% 18,100 | 20,900
WO FEF JAL JAL 39,000 40% 20,900 | 18,100
EHR=LHE EHH JAL JAL 36,800 40% 18,000 | 18,800
JAL JAC 36,800 34% 24,200 | 12,600
HE JAL JAL 36,800 40% 18,800 | 18,000
JAC JAL 36,800 34% 12,600 | 24,200
BEHR=S EHH JAL JAL 34,000 43% 17,200 | 16,800
mEX [HRE JAL JAL 34,000 43% 16,800 | 17,200
BEH=mh % [HE JAL JAL 36,000 40% 18,200 | 17,800
I E 3 JAL JAL 36,000 40% 17,800 | 18,200
BEHR=aH % [HE JAL JAL 37,000 40% 18,100 | 18,900
BH%¥ [BRE JAL JAL 37,000 40% 18,900 | 18,100
BEHR=L % [HE JAL JAL 37,000 40% 18,000 | 19,000
INTIEE ;3 JAL JAL 37,000 40% 19,000 | 18,000
FH=dt M %  |[BHRER(H JAL JAL 39,000 42% 17,600 | 21,400
JEAMFE |RFECH JAL JAL 39,000 42% 21,400 | 17,600
BEHR=KH EHEHE  |EECH JAL JAL 39,000 41% 17,900 | 21,100
PN = JAL JAL 39,000 41% 21,100 | 17,900
EHR=R& EHH JAL JAL 42,000 39% 18,300 | 23,700
JAL JAL 42,000 33% 24,700 | 17,300
I JAL JAL 42,000 39% 23,700 | 18,300
JAL JAL 42,000 33% 17,300 | 24,700
BEHR=EX EHH JAL JAL 40,500 39% 18,200 | 22,300
RERH JAL JAL 40,500 39% 22,300 | 18,200
JAL JAL 40,500 33% 15,800 | 24,700
== A% [ EEHH) JAL JAL 40,500 39% 18,200 | 22,300
AR (FFH JAL JAL 40,500 33% 24,700 | 15,800
BEH  [RECHHE) JAL JAL 40,500 39% 22,300 | 18,200
AR (FFH JAL JAL 40,500 33% 15,800 | 24,700
EH5=ERS X% [ EEHH) JAL JAL 42,000 39% 18,300 | 23,700
AR (FFH JAL JAC 42,000 34% 24,300 | 17,700
BEREH [RECHH) JAL JAL 42,000 39% 23,700 | 18,300
AR (FFH JAC JAL 42,000 34% 17,700 | 24,300
ZiR=/ =ZR¥ |mEmJ JAL JAL 32,000 38% 18,400 | 13,600
IMRFE |ERR JAL JAL 32,000 38% 13,600 | 18,400
=iR=MuW = JAL JAL 36,000 40% 17,800 | 18,200
JAL JAL 36,000 40% 18,200 | 17,800
ZR=L5 JAL JAL 37,000 39% 18,100 | 18,900
JAL JAL 37,000 39% 18,900 | 18,100
=R=1uOF&H JAL JAL 39,000 39% 17,900 | 21,100
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JENIE I E 354 €E]:=:) JAL JAL 20,450 67% 13,050 | 7,400
KBx (B87E) =78JI | KPR (BEFE) | RE CHH) JAL JAL 20,450 67% 7,400 | 13,050
JETIE I E 354 €E]:=:)) JAL JAL 20,450 67% 13,050 | 7,400
KB (77 =8IB% | KPR RF1) F [ RE CHEH) JAL JAL 20,700 66% 7,600 | 13,100
HlEEFE |RECHH) JAL JAL 20,700 66% 13,100 | 7,600
KB (FFH =5 | KR R # R CHE) JAL JAL 20,150 67% 7,450 | 12,700
wIRFE  |BECHE) JAL JAL 20,150 67% 12,700 | 7,450
ABx (BPE) =FI5 AN ESCE:D) JAL JAL 20,150 67% 12,700 | 7,450
KB (771 =BEfE | KBR (R F1) # [ RE CHEH) JAL JAL 20,650 62% 8,600 | 12,050
BHEEH  |[BE(CHHE) JAL JAL 20,650 62% 12,050 | 8,600
KB (FFH ==iR | KR RF1) F [ RE CHEH) JAL JAL 18,900 64% 8,200 | 10,700
=ZR¥ |HE(CHH) JAL JAL 18,900 64% 10,700 | 8,200
ABx (BiFE) ==iR =ZR¥ |HECHH) JAL JAL 18,900 64% 10,700 | 8,200
KB () =Rl | RERUFHHE| HE JAC JAC 10,250 67% 5700 | 4,550
EGE HE JAC JAC 10,250 67% 4,550 | 5,700
AR (F =BFE | XREMH| BES JAC JAC 16,300 59% 10,800 | 5,500
BEIEH BERE JAC JAC 16,300 59% 5,500 | 10,800
KB (FFH ==& | KB RS F[Hé4E (5 JAL _[JTA/RAC 21,500 58% 14,200 | 7,300
Ea% A8 JTA/RAC]  JAL 21,500 58% 7,300 | 14,200
KB (BfE) == | KB (BEFE) | 44E (FE) JAL/JTA[JTA/RAC 21,500 58% 14,200 | 7,300
Ea¥ AR5 JTA/RAC[JAL/JTA 21,500 58% 7,300 | 14,200
KR (R =R1E [XRUEFR) X[ T4 FERH) JAL JTA 24,200 58% 14,450 | 9,750
RiEHK |4 (FE) JTA JAL 24,200 58% 9,750 | 14,450
KR (BEFE) =RA1E [XBR () FE[ T4 (BRH) JAL/JTA| JTA 24,200 58% 14,450 | 9,750
RiEH  |H4E(FE) JTA  [JAL/JTA 24,200 58% 9,750 | 14,450
ZHE (PE) =% 55 | B 5 E (hE6) S| 4Lk T Fa) JAL JAL 19,900 66% 12,650 | 7,250
ZimRFE (IR FHTFH) JAL JAL 19,900 66% 7,250 | 12,650
ZHE (P =225 [ FEGREH) JTA _[JTA/RAC 22,000 61% 15,150 | 6,850
Ea% AR5 JTA/RAC] JTA 22,000 61% 6,850 | 15,150
ZEE (P& =F1E[a5EH R P EGRH) JTA JTA 26,500 57% 16,600 | 9,900
RiEH  |H4E(FE) JTA JTA 26,500 57% 9,900 | 16,600
IR (FrFm) =/MAALIR ) R == CHH) JAL JAL 16,750 70% 10,150 | 6,600
IS BRECHE) JAL JAL 16,750 70% 6,600 | 10,150
ALIR (FrF %) =R [AUIR %) %[ = CAE) JAL JAL 17,500 72% 9,200 | 8,300
FEILLFE [RFECHH) JAL JAL 17,500 72% 8,300 | 9,200
R EFHFR) =LEB[ LR FEFR X[ TR (BFH) JAL JAL 18,000 72% 9,400 | 8,600
LEE% |[FFE(CHH) JAL JAL 18,000 72% 8,600 | 9,400
IR EFFR) = L08R & F &) %[ Hm CHE) JAL JAL 21,000 69% 10,350 | 10,650
WOFEF [R/ECHHA) JAL JAL 21,000 69% 10,650 | 10,350
IR (T =HEFEETH) X[ FE=CAE) JAL JAL 18,700 71% 9,650 | 9,050
HEHR [RECHH) JAL JAL 18,700 71% 9,050 | 9,650
R EFHFR) =EES IR FEFR X[ TR (BFH) JAL JAL 19,500 69% 10,350 | 9,150
wmEHX |FE(CHH) JAL JAL 19,500 69% 9,150 | 10,350
IR (FrFm) == LR Fs) %[ == CAR) JAL JAL 19,950 68% 10,600 | 9,350
BN%  |FFECHHE) JAL JAL 19,950 68% 9,350 | 10,600
IR (TR == 5 AR %) %[ = CAE) JAL JAL 20,700 68% 10,700 | 10,000
=5HE  |[ERERCHH) JAL JAL 20,700 68% 10,000 | 10,700
AR FF) =L AR FFR) X[ TR (FH) JAL JAL 21,850 67% 11,200 | 10,650
WL  |FECHE) JAL JAL 21,850 67% 10,650 | 11,200
IR EFTFH) =AM [R FEF) R[ER CHH) JAL JAL 21,000 70% 10,000 | 11,000
JdEAMFE |FHECIH) JAL JAL 21,000 70% 11,000 | 10,000
IR (TR =K4 LR %) %[ F= CAE) JAL JAL 21,000 70% 10,200 | 10,800
An% |HFE(CHH) JAL JAL 21,000 70% 10,800 | 10,200
AR FHFR) =R LR FHFR) X[ TR (FH) JAL JAL 22,000 70% 10,200 | 11,800
REIG% |[HECHE) JAL JAL 22,000 70% 11,800 | 10,200
AR (B F) =BEA AR ) %[ = CHE) JAL JAL 21,500 69% 10,250 | 11,250
REAH |HFE(CHH) JAL JAL 21,500 69% 11,250 | 10,250
LR (FF) =205 [ ALIE %) %[ = CAE) JAL JAL 22,000 69% 10,500 | 11,500
EIEH  [RECHHE) JAL JAL 22,000 69% 11,500 | 10,500
IR (FFR) =ERE[ALIEFFH) ¥ [HR CHH) JAL JAL 24,500 66% 11,350 | 13,150
BEREESH |[HFECHH) JAL JAL 24,500 66% 13,150 | 11,350
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IR FR) =il (3% [ LI (FF ) %Rz (/) JAL _[JAL/JTA 25,600 66% 11,550 | 14,050
ABR (B97E) JAL [JAL/JTA 25,600 66% 14,000 | 11,600
ZHE (hEh) JAL JTA 25,600 66% 12,600 | 13,000
fak JAL JTA 25,600 67% 16,650 | 8,950
i (FRER) F | _E CHH) JAL/JTA]  JAL 25,600 66% 14,050 | 11,550
ABR (B97E) JAL/JTA| JAL 25,600 66% 11,600 | 14,000
ZHE (hEh) JTA JAL 25,600 66% 13,000 | 12,600
fak JTA JAL 25,600 67% 8,950 | 16,650
e =% a5 mEFE  |[EECIH) JAL JAL 26,050 67% 12,300 | 13,750
IR FF %) JAL JAL 26,050 64% 18,350 | 7,700
ZmAlFE | RmECHH) JAL JAL 26,050 67% 13,750 | 12,300
IR FF %) JAL JAL 26,050 64% 7,700 | 18,350
fER=1E)I| wmEE  [EmA) JAL JAL 26,050 66% 12,550 | 13,500
JENTE L S-A€E JAL JAL 26,050 66% 13,500 | 12,550
BE =815 R |ERE JAL JAL 26,050 66% 12,650 | 13,400
HEEFE |EHRE JAL JAL 26,050 66% 13,400 | 12,650
&k =% mEFE  |ERE JAL JAL 26,050 65% 12,750 | 13,300
N E 3 JAL JAL 26,050 65% 13,300 | 12,750
tafE =K EE faEFE |RECHH) JAL JAL 25,550 62% 13,750 | 11,800
EEEH |BE(CHHE) JAL JAL 25,550 62% 11,800 | 13,750
RE=F% mEFE  |EECIH) JAL JAL 21,450 68% 11,800 | 9,650
AR (FFH JAL JAL 21,450 63% 8,000 | 13,450
A% [ EEHH) JAL JAL 21,450 68% 9,650 | 11,800
AR (FFH JAL JAL 21,450 63% 13,450 | 8,000
BE==R fmEFE  |RECHH) JAL JAL 21,200 68% 11,750 | 9,450
=ZR¥ |HE(CHH) JAL JAL 21,200 68% 9,450 | 11,750
Rk =1E% arFE | KRR JAL JAL 20,700 64% 7,950 | 12,750
EEH | KIRUFFD JAL JAL 20,700 64% 12,750 | 7,950
B =FH EEXE |B2=(PH) JAL JAL 21,150 65% 12,650 | 8,500
MEFE |EECIH) JAL JAL 21,150 65% 8,500 | 12,650
AR (FFH JAL JAL 21,150 61% 12,700 | 8,450
fakE = L%z fmEFE |[EECIH) JAL JAL 18,500 66% 12,350 | 6,150
AR (FFH JAL JAL 18,500 66% 7,550 | 10,950
s | R=ECHA) JAL JAL 18,500 66% 6,150 | 12,350
ABR (FFH JAL JAL 18,500 66% 10,950 | 7,550
Rk =R amFE | KRR JAL JAL 18,500 64% 7,950 | 10,550
;inF | KBRUFFD JAL JAL 18,500 64% 10,550 | 7,950
B =/ EEXE | == (PH) JAL JAL 18,400 69% 11,500 | 6,900
VS | BR CHE) JAL JAL 18,400 69% 6,900 | 11,500
rRE==q mmEFE | GRE) JTA _[JTA/RAC 19,000 58% 11,600 | 7,400
Ea¥ [ JTA/RAC] JTA 19,000 58% 7,400 | 11,600
ER=0a18 EEFE |4 (AE) JTA JTA 19,350 62% 10,550 | 8,800
RiEE  |HEEFBH) JTA JTA 19,350 62% 8,800 | 10,550
Al =IlE ZHAHE  [AIREFTFR JAL JAL 15,250 69% 6,550 | 8,700
= ALIR (BT F %) JAL JAL 15,250 69% 8,700 | 6,550
Al =/ Zimnl % | ERECHE) JAL JAL 20,600 67% 13,450 | 7,150
INVAFE B (T JAL JAL 20,600 67% 7,150 | 13,450
i Al =R L ZimnlF | R CH JAL JAL 22,500 68% 13,000 | 9,500
IS = JAL JAL 22,500 68% 9,500 | 13,000
TBJI =M JENIES JAL JAL 19,800 68% 12,750 | 7,050
IV FE JAL JAL 19,800 68% 7,050 | 12,750
HBJI=Fe 1L JENIES JAL JAL 22,500 68% 12,750 | 9,750
EIIE:S JAL JAL 22,500 68% 9,750 | 12,750
IR =/ R JAL JAL 19,500 68% 12,500 | 7,000
IV FE JAL JAL 19,500 68% 7,000 | 12,500
SIE% =1L IR JAL JAL 22,500 67% 12,700 | 9,800
IS JAL JAL 22,500 67% 9,800 | 12,700
L=/ N JAL JAL 19,250 68% 12,250 | 7,000
IR FE JAL JAL 19,250 68% 7,000 | 12,250
L =Rl N JAL JAL 22,500 67% 12,600 | 9,900
EIIE:S JAL JAL 22,500 67% 9,900 | 12,600
BEEE=/2 AR JAL JAL 17,050 68% 10,050 | 7,000
IV FE JAL JAL 17,050 68% 7,000 | 10,050
BREE =1L BEES JAL JAL 22,000 64% 11,250 | 10,750
EIIE:S JAL JAL 22,000 64% 10,750 | 11,250
BEREE=db AL BEES JAL JAL 20,250 70% 9,350 | 10,900
LRI F JAL JAL 20,250 70% 10,900 | 9,350
EEE=X% AR JAL JAL 20,250 70% 9,500 | 10,750
PN JAL JAL 20,250 70% 10,750 | 9,500
EEE=RIF BEEFH JAL JAL 21,000 70% 9,400 | 11,600
RIG% JAL JAL 21,000 70% 11,600 | 9,400
EfE=FEX BHEESH JAL JAL 21,000 69% 9,700 | 11,300
REARH JAL JAL 21,000 69% 11,300 | 9,700
HEE=5IF AR JAL JAL 21,000 69% 9,700 | 11,300
I JAL JAL 21,000 69% 11,300 | 9,700
HE=ERS AR JAL JAL 21,500 69% 9,600 | 11,900
BERESH JAL JAL 21,500 69% 11,900 | 9,600
BEHR=/R EHH JAL JAL 16,000 69% 9,250 | 6,750
I [RECHE) JAL JAL 16,000 69% 6,750 | 9,250
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EHR=RL % |[ER®® JAL JAL 18,000 70% 9,000 | 9,000
IS = JAL JAL 18,000 70% 9,000 | 9,000
BEHR=LS EHH JAL JAL 18,500 70% 9,150 | 9,350
LE% JAL JAL 18,500 70% 9,350 | 9,150
EHF=LOFH EHH JAL JAL 19,500 70% 9,050 | 10,450
WAFEBH JAL JAL 19,500 70% 10,450 | 9,050
BEHR=LHE EHH JAL JAL 18,400 70% 9,000 | 9,400
JAL JAC 18,400 67% 12,100 | 6,300
HE JAL JAL 18,400 70% 9,400 | 9,000
JAC JAL 18,400 67% 6,300 | 12,100
EHR=S EHH JAL JAL 17,000 71% 8,600 | 8,400
mEX [HRE JAL JAL 17,000 71% 8,400 | 8,600
BEH=ah % [HE JAL JAL 18,000 70% 9,100 | 8,900
I E 3 JAL JAL 18,000 70% 8,900 [ 9,100
BEHR=aH % [HE JAL JAL 18,500 70% 9,050 | 9,450
BH%¥ [BRE JAL JAL 18,500 70% 9,450 | 9,050
BEHR= % [HE JAL JAL 18,500 70% 9,000 | 9,500
INTIEE ;3 JAL JAL 18,500 70% 9,500 | 9,000
FH=dt M % |[HRER(H JAL JAL 19,500 71% 8,800 | 10,700
JEAMFE |HECH JAL JAL 19,500 71% 10,700 | 8,800
BEHR=KH EHEHE  |EECH JAL JAL 19,500 70% 8,950 | 10,550
PN = JAL JAL 19,500 70% 10,550 | 8,950
BEHR=R& EHH JAL JAL 21,000 70% 9,150 | 11,850
JAL JAL 21,000 66% 12,350 | 8,650
I JAL JAL 21,000 70% 11,850 | 9,150
JAL JAL 21,000 66% 8,650 | 12,350
BEHR=EX EHH JAL JAL 20,250 70% 9,100 | 11,150
RERH JAL JAL 20,250 70% 11,150 | 9,100
JAL JAL 20,250 66% 7,900 | 12,350
== A% [ EEWH) JAL JAL 20,250 70% 9,100 | 11,150
AR (FFH JAL JAL 20,250 66% 12,350 | 7,900
TR [RECHHE) JAL JAL 20,250 70% 11,150 | 9,100
AR (FFH JAL JAL 20,250 66% 7,900 | 12,350
EH5=ERS A% [ EEHH) JAL JAL 21,000 70% 9,150 | 11,850
AR (FFH JAL JAC 21,000 67% 12,150 | 8,850
BEREH [RECHH) JAL JAL 21,000 70% 11,850 | 9,150
AR (FFH JAC JAL 21,000 67% 8,850 | 12,150
ZiR=/ =ZR¥ |mmJ JAL JAL 16,000 69% 9,200 | 6,800
IMAFE |ERR JAL JAL 16,000 69% 6,800 | 9,200
=iR=MuW = JAL JAL 18,000 70% 8,900 [ 9,100
JAL JAL 18,000 70% 9,100 | 8,900
ZR=L5 JAL JAL 18,500 69% 9,050 | 9,450
JAL JAL 18,500 69% 9,450 | 9,050
=R=1uOF&H JAL JAL 19,500 70% 8,950 | 10,550
JAL JAL 19,500 70% 10,550 | 8,950
ZR=HZE JAL JAL 18,950 69% 9,200 | 9,750
JAL JAL 18,950 69% 9,750 | 9,200
SR=1E5 JAL JAL 17,000 71% 8,500 | 8,500
JAL JAL 17,000 71% 8,500 | 8,500
ZiR=a# JAL JAL 18,000 69% 9,000 | 9,000
JAL JAL 18,000 69% 9,000 | 9,000
=R=54 JAL JAL 18,000 70% 8,700 | 9,300
JAL JAL 18,000 70% 9,300 | 8,700
=iR=#0 JAL JAL 18,500 70% 8,900 [ 9,600
JAL JAL 18,500 70% 9,600 | 8,900
ZR=dc M JAL JAL 19,500 71% 8,700 | 10,800
JAL JAL 19,500 71% 10,800 | 8,700
ZR=X% JAL JAL 19,500 70% 8,850 | 10,650
JAL JAL 19,500 70% 10,650 | 8,850
ZiR=FI5 JAL JAL 21,000 69% 9,050 | 11,950
JAL JAL 21,000 69% 11,950 | 9,050
=R=8X JAL JAL 20,250 69% 9,000 | 11,250
JAL JAL 20,250 69% 11,250 | 9,000
=R=EIl& JAL JAL 20,250 69% 9,000 | 11,250
JAL JAL 20,250 69% 11,250 | 9,000
ZR=ERS i ES JAL JAL 21,000 69% 9,050 | 11,950
BEREEH |®EKE JAL JAL 21,000 69% 11,950 | 9,050
A=/ HEFE |ERFE JAL JAL 15,450 67% 8,150 | 7,300
IMRFE |ERR JAL JAL 15,450 67% 7,300 | 8,150
B =L HEFE |ERE JAL JAL 16,000 71% 7,200 | 8,800
ENEES:S JAL JAL 16,000 71% 8,800 | 7,200
ME=LE HEFE |RFE JAL JAL 17,000 69% 7,550 | 9,450
LEH |[BHHER(H JAL JAL 17,000 69% 9,450 | 7,550
ME=LOF HEFE |HECH JAL JAL 18,500 69% 7,700 | 10,800
IEESEAETIOE JAL JAL 18,500 69% 10,800 | 7,700
MHE=HZE HEFE |[EECH) JAL JAL 16,000 71% 7,250 | 8,750
AR (FFH JAL JAC 16,000 69% 10,450 | 5,550
HE HRCHHR) JAL JAL 16,000 71% 8,750 | 7,250
AR (FFH JAC JAL 16,000 69% 5,550 | 10,450
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ME=ES FEFE |EFECHH) JAL JAL 16,000 70% 7,300 | 8,700
mEHX |FE(CHH) JAL JAL 16,000 70% 8,700 | 7,300
ME=2K TEFE |RECHH) JAL JAL 17,000 69% 7,750 | 9,250
BN% |FFECHHE) JAL JAL 17,000 69% 9,250 | 7,750
MHE==% TEFE |RFECHH) JAL JAL 17,000 70% 7,450 | 9,550
=EHE |[ERERCHH) JAL JAL 17,000 70% 9,550 | 7,450
FRE =1L IREFE | ERECHH) JAL JAL 18,000 68% 7,850 | 10,150
'NIE. M E 34 €E]::)) JAL JAL 18,000 68% 10,150 | 7,850
FE =t A IREFE | RECHH) JAL JAL 18,500 70% 7,400 | 11,100
JdEAMFE |HECH) JAL JAL 18,500 70% 11,100 | 7,400
MEA=X% TEFE |RFECHH) JAL JAL 18,500 69% 7,550 | 10,950
K% [BER(CHHE) JAL JAL 18,500 69% 10,950 | 7,550
AR (FFH JAL JAL 18,500 65% 6,850 | 11,650
MHE=R& HEFE |[EECH) JAL JAL 19,500 69% 7,550 | 11,950
AR (FFH JAL JAL 19,500 67% 10,950 | 8,550
g% |[EER(CHE) JAL JAL 19,500 69% 11,950 | 7,550
AR (FFH JAL JAL 19,500 67% 8,550 | 10,950
FHE=FEX HEFE |[EEEH) JAL JAL 19,500 68% 7,850 | 11,650
AR (FFH JAL JAL 19,500 65% 11,400 | 8,100
RBAH |[EER(HH) JAL JAL 19,500 68% 11,650 | 7,850
AR (FFH JAL JAL 19,500 65% 8,100 | 11,400
MHE==F HEFE |[EECH) JAL JAL 19,500 68% 7,850 | 11,650
AR (FFH JAL JAL 19,500 65% 11,400 | 8,100
TR  [RECHHE) JAL JAL 19,500 68% 11,650 | 7,850
AR (FFH JAL JAL 19,500 65% 8,100 | 11,400
MHE=ERE HEFE |[EECH) JAL JAL 20,250 68% 7,850 | 12,400
AR (FFH JAL JAC 20,250 66% 11,150 | 9,100
EIREH |[EECHH) JAL JAL 20,250 68% 12,400 | 7,850
ABR (FFH JAC JAL 20,250 66% 9,100 | 11,150
iz =i 112 E 3ACE]::)) JAL JAL 14,800 63% 6,700 | 8,100
IS RECHE) JAL JAL 14,800 63% 8,100 | 6,700
itz =@ 12 E 3ACE]::)) JAL JAL 15,500 68% 5850 | 9,650
L% [ERCHHE) JAL JAL 15,500 68% 9,650 | 5,850
W =E5 12 E 5ACE]::)) JAL JAL 16,000 67% 5,950 | 10,050
LEE% |[FFE(CHH) JAL JAL 16,000 67% 10,050 | 5,950
Wz =10 F58 Wi |H=ECHA) JAL JAL 18,000 66% 6,200 | 11,800
WOFEF [R/ECHHA) JAL JAL 18,000 66% 11,800 | 6,200
W =H=E IR | ERECHHA) JAL JAL 16,000 68% 5,850 | 10,150
AR (FFH JAL JAC 16,000 69% 10,000 | 6,000
HEHX [RECHH) JAL JAL 16,000 68% 10,150 | 5,850
AR (FFH JAC JAL 16,000 69% 6,000 | 10,000
=5 W% |ERFECHHA) JAL JAL 15,500 68% 5,900 | 9,600
mEHX |FFE(CHH) JAL JAL 15,500 68% 9,600 | 5,900
W =a# 12 E 5ACE[::)) JAL JAL 15,500 68% 5,900 | 9,600
BN%¥  |FFECHHE) JAL JAL 15,500 68% 9,600 | 5,900
Wz =40 12 E 5ACE]::)) JAL JAL 16,000 68% 5,850 | 10,150
Wiz =#210 12 E 3ACE[::)) JAL JAL 16,000 68% 5,800 | 10,200
WL  |HFECHE) JAL JAL 16,000 68% 10,200 | 5,800
iz =4t 12 E 5ACE]:)) JAL JAL 18,500 66% 6,150 | 12,350
W =X% 12 E 3ACE]::)) JAL JAL 18,000 67% 6,100 | 11,900
An% |[BFE(CHHE) JAL JAL 18,000 67% 11,900 | 6,100
Wiz =R IR | ERECHH) JAL JAL 19,500 66% 6,200 | 13,300
AR (FFH JAL JAL 19,500 66% 10,800 | 8,700
EIG% |[BECHE) JAL JAL 19,500 66% 13,300 | 6,200
Wz =RER IR | ERECHHA) JAL JAL 18,500 66% 6,150 | 12,350
AR (FFH JAL JAL 18,500 67% 10,650 | 7,850
RBA% |[EER(HH) JAL JAL 18,500 66% 12,350 | 6,150
AR (FFH JAL JAL 18,500 67% 7,850 | 10,650
Iz == iR | ERECHHA) JAL JAL 18,500 66% 6,150 | 12,350
AR (FFH JAL JAL 18,500 67% 10,650 | 7,850
=GR [RECHHE) JAL JAL 18,500 66% 12,350 | 6,150
AR (FFH JAL JAL 18,500 67% 7,850 | 10,650
L=RRE s | R=ECHA) JAL JAL 19,500 66% 6,200 | 13,300
AR (FFH JAL JAC 19,500 67% 10,600 | 8,900
EIREH |[EECHH) JAL JAL 19,500 66% 13,300 | 6,200
ABR (FFH JAC JAL 19,500 67% 8,900 | 10,600
WE=HZE W&Es | KBRUFFD JAL JAC 16,000 68% 9,850 | 6,150
HE ABR (FFH JAC JAL 16,000 68% 6,150 | 9,850
W&E=X% & KB (FFD JAL JAL 18,000 64% 11,050 | 6,950
A% | KBRUFFD JAL JAL 18,000 64% 6,950 | 11,050
&E=R&E = ABR (FFH JAL JAL 19,500 65% 10,650 | 8,850
Rig% | XBRUFFD JAL JAL 19,500 65% 8,850 | 10,650
IE=HEX WEH | KXBRUFFD JAL JAL 18,500 66% 10,500 | 8,000
AKX | XIRUFFD JAL JAL 18,500 66% 8,000 [ 10,500
E==F W&Es | KXBRUFFD JAL JAL 19,500 64% 11,050 | 8,450
=iEH [ KR (FFD JAL JAL 19,500 64% 8,450 | 11,050
WE=ERS & | KBR({FFD JAL JAC 19,500 66% 10,450 | 9,050
BREESH |XRUEFD JAC JAL 19,500 66% 9,050 | 10,450
Fia=HE FinH | KBRUFFD JAL JAC 14,500 70% 8,700 | 5,800
HEHR [XREFFD JAC JAL 14,500 70% 5,800 | 8,700
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‘ RKED [ KEO | KB Ao
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EHR=REL EH%E |[RR(E JAL JAL 23,050 62% 11,500 | 11,550
IS JAL JAL 23,050 62% 11,550 | 11,500
BEHR=LS EHH JAL JAL 23,700 61% 11,700 | 12,000
LE% JAL JAL 23,700 61% 12,000 | 11,700
EH=ILOFE EHH JAL JAL 24,950 61% 11,600 | 13,350
WO FEF JAL JAL 24,950 61% 13,350 | 11,600
EHR=LHE EHH JAL JAL 23,550 62% 11,500 | 12,050
JAL JAC 23,550 58% 15,500 | 8,050
HE JAL JAL 23,550 62% 12,050 | 11,500
JAC JAL 23,550 58% 8,050 | 15,500
BEHR=S EHH JAL JAL 21,750 64% 11,000 | 10,750
__ EEE ¥ JAL JAL 21,750 64% 10,750 | 11,000
BEH=mh BHRE |[EmW JAL JAL 23,050 61% 11,650 | 11,400
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EFH=M0 A%  |E=m JAL JAL 23,700 62% 11,500 | 12,200
NTEIE ¥ JAL JAL 23,700 62% 12,200 | 11,500
EH=dAM %  |[BHRER(H JAL JAL 24,950 63% 11,250 | 13,700
AAMSE |[HECH JAL JAL 24,950 63% 13,700 | 11,250
BEHR=KH %  |[ERER(H JAL JAL 24,950 62% 11,450 | 13,500
PN = JAL JAL 24,950 62% 13,500 | 11,450
EHR=R& EHH JAL JAL 26,900 61% 11,700 | 15,200
JAL JAL 26,900 57% 15,800 | 11,100
RIG% JAL JAL 26,900 61% 15,200 | 11,700
JAL JAL 26,900 57% 11,100 | 15,800
EH=EA EHH JAL JAL 25,900 61% 11,650 | 14,250
RERH JAL JAL 25,900 61% 14,250 | 11,650
JAL JAL 25,900 57% 10,100 | 15,800
== A% [ EEHH) JAL JAL 25,900 61% 11,650 | 14,250
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BEH  [RECHHE) JAL JAL 25,900 61% 14,250 | 11,650
jc@ (RF1) JAL JAL 25,900 57% 10,100 | 15,800
EH5=ERS X% [ EEHH) JAL JAL 26,900 61% 11,700 | 15,200
jc@ (RF1) JAL JAC 26,900 58% 15,550 | 11,350
BEREH [RECHH) JAL JAL 26,900 61% 15,200 | 11,700
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ZR=X% JAL JAL 24,950 62% 11,350 | 13,600
JAL JAL 24,950 62% 13,600 | 11,350
ZR=FI& JAL JAL 26,900 61% 11,600 | 15,300
JAL JAL 26,900 61% 15,300 | 11,600
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FE=/2 HEFE |ERFE JAL JAL 19,800 57% 10,450 | 9,350
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4 ~ 3] Y AL
B1H~5A31 Al SARADERIRMIE JEEE  ATAROR
=3 e | O BESi ar-sm | BEE gy |ERE RAR BRR
— ’ +_ RHD [ XHE | KEE Wex | Qe
=5 T’égz éa(w JAL JAL 20,500 62% 9,350 | 11,150 2
_ & = JAL JA : ' '
BE=2R LI JAL JAt 219 o AR
A = 21,750 60% 9,900 11,850
_ =%  |E= JAL JAL 21,750 60% ' '
RE=5% BEX |[E= JAL | JAL 21 B EEaRT
Hog 2% 1,750 61% 9,550 12,200
- = B JAL JAL 21,750 61% '
ME=HL TEEIE ¥ JAL | JAL 23, B ARt
1 k] JAL JAL 3,050 59% 10,050 13,000
FRE =T AM EEIE A JAL JAL 23700 o 425
TAME [E=CHA) JAL | JAL 53’700 i T
RE=A% A |[RE=CHA) JAL | JAL 2 00 i e
HEE Ano 3,700 61% 9,650 14,050
2 = CHE) JAL JAL y '
23,700 61% 14050 9,650
T jc@ (FF1) JAL JAL 23,700 55% 8800 14
=EI& C=E 2 EAERTE)) JAL JAL y : o
24,950 61% 9,650 15,300
KRB JAL JAL 24,950 Y ' :
L , 57% 14,000 10,950
2 = CHA) JAL JAL y '
24,950 61% 15,300 9,650
TE=T jc@ (RF1) JAL JAL 24,950 57% 109 '
H=FEA& MEE |2z CHR) JAL JAL ' e AREG
24,950 59% 10,050 14,900
KR (B JAL JAL 24,950 Y ' :
et , 56% 14,600 10,350
= CHH) JAL JAL 9 '
24,950 59% 12,900 10,050
TE=E jc@ (RF1) JAL JAL 24,950 56% 103 '
A=215 ER  |[EmCHA) JAL JAL 24.9 9 e
L A6 JAL JAL 950 59% 10,050 14,900
_— B (fF 24,950 56% 14,600 10,350
=R EEACD) JAL JAL 9 : '
24,950 59% 12,900 10,050
S KRB JAL JAL 24,950 56% : '
ME=-ERS EE |[RaCHA) JAL JAL : 7 e
L A6 JAL 25,900 59% 10,050 15,850
- B (f7 JAC 25,900 57% 14,250 11,650
EREH [ERERCHH) JAL JAL 25 9 Y X
L A6 JAL JAL 900 59% 15,850 10,050
L= /Nia 2 GACTE)) JAL JAL TR o e
LEE o5 18,950 53% 8,600 | 10,350
_ N = () JAL JAL 18.950 53% '
LI%=m0 M2 L 5 JAL | _JAL i B e
I} ks JAL JAL 9,850 59% 7,500 12,350
A = i
e I mE JAL JAL 19,850 59% 12,350 7,500
ups JAL JAL 20,500 58% 7,600 12,900
M ENEER:] Wi 2 JAL JAL 050 2o R
. JAL 23,050 56% 7,050 15,100
S— = JAL 23,050 56% 15,100 7,950
2= 3 JAL JAL : '
20,500 59% 7,500 13,000
= JAL JAC 20,500 60% 12,800 7,700
= JAL JAL 20,500 59% 13.000 |_7.500
___ JAC JAL 20,500 60% ' '
=5 L% JAL JAL 19.850 584 ;,;gg 12500
Eox = JAL ’ ; T
L =a W% |[mm JAL jﬁt T 2o R
17 = 19,850 58% 7,550 12,300
_ =% |E= JAL JAL 19.850 58% ) :
L= M2 ¢ JAL | JAL 20500 ? TR
W =#A ML ¢ JAL | JAL 20500 gg;ﬂ I T
[NIE L 3 JAL JAL 20, °n TR 7T
R T B 500 59% 13,100 7,400
E 2L JAL JAL 23.700 57% '
=X % 22k 5 JAL | AL 230 B RN
(2 LT 050 57% 7,800 15,250
_ 5 20 JAL JAL 23,050 57% 1
L =55 23 -ACT)) JAL JAL ' 2200 La
24,950 56% 7,050 17,000
KRB JAL JAL 24,950 9 ' :
L , 57% 13,800 11,150
_ 5 5= () JAL JAL 24.950 56% '
L =FEA& L% == CHE) JAL JAL 23 on T RETar
L A6 JAL JAL ;700 57% 7,850 15,850
e 23,700 57% 13,650 10,050
= CRE) JAL JAL 23.700 Y '
KR (B JAL JAL 23.700 o R
L=215 23 E ACEL:) JAL | JAL 23, o et
L A6 ;700 57% 7,850 15,850
_ i3 JAL JAL 23,700 57% 13,650 10,050
EE i;ﬁgﬁ; E} 3 JAL JAL 23,700 57% 15.850 7,850
_ JAL ' '
L=ERE 23 E ACEL:) JAL jﬁt PTRES o oo
24,950 56% 7,050 17,000
KR (B JAL JAC 24,950 Y ' :
EEr 2l , 57% 13,550 11,400
ER = CHH) JAL JAL Y '
: 24,950 56% 17,000 7,950
TE=HE - ABR (FFH JAC JAL 24,950 57% 114 '
E=HmE Wa%E [ Kk{FD JAL | _JAC 205 ; T
HER [ KRGFH JAC | JAL 200 204 RN
=T R : 20,500 59% 7,000 12,600
E=K% B% | ARGFR) JAL JAL 23 y | ’
g 1% : 050 54% 14,150 8,900
A BR (FFD JAL JAL 23,050 y |
TETEE ~3% : , 54% 8,000 | 14,150
4 KB FFD JAL JAL 24,950 ) ' :
RIS | ABR (FFD JAL JAL ' o AR
M&E=F+ = PN A 2s0) JAL | JAL 23700 o e Hoat
T MES : 23,700 56% 13,450 10,250
_ & IR (7 F) JAL JAL 23,700 56% 10 '
ma==k Was [ Kk (FD JAL | JAL 24,950 5 2 Tios00
=% | ABR (FFD JAL | JAL 24 S oy 415
meE=ERS WEE Kk (R JAL | _JAG 950 o EARE
RIS e : 24,950 57% 13,400 11,550
I B R B () JAC | _JAL 24,950 | 57% N '
R = e Fa% | ARGERD JAL | _JAC 18,5 0 T o
T MMES ;) JAL 550 62% 11,150 7,400
JAL 18,550 62% 7,400 11,150




481H~5H31H rﬁ'ﬁﬂﬁb%\%‘ﬁﬂﬂiﬂiiﬂg [ 28 E.i JAL/JTA/JAC/RAC
11— P = SEAE SEAE SHAE
XfH FEith® | #HE0O BRERHT 4/1-5/31 %;% sz EG%E EE%E EEH

EED | EEQ | EE® i @D @ ©)
FiR=X5 ik | KBRUFFD JAL JAL 21,750 55% 13,050 | 8,700
A% | KBRUFFD JAL JAL 21,750 55% 8,700 | 13,050
HiR=R&E FinFk | KBRUFFD JAL JAL 23,700 57% 12,550 | 11,150
RiG% | KBRUFFD JAL JAL 23,700 57% 11,150 | 12,550
FiR=FEX FimF | KBRUFFD JAL JAL 23,050 56% 12,750 | 10,300
REAK | KBRUFFD JAL JAL 23,050 56% 10,300 | 12,750
HiRn==F F;in% | KBRUFFD JAL JAL 23,050 56% 12,750 | 10,300
IS xrﬂi(@F ) JAL JAL 23,050 56% 10,300 | 12,750
FR=ERS ) JAL JAC 23,700 58% 12,300 | 11,400
B JAC JAL 23,700 58% 11,400 | 12,300
INR =TT JAL JAL 19,350 63% 8,150 | 11,200
JAL JAL 19,350 63% 11,200 | 8,150
IMR=TRS JAL JAL 19,800 62% 8,200 | 11,600
JAL JAL 19,800 62% 11,600 | 8,200
IMA=LUOFER JAL JAL 22,200 61% 8,650 | 13,550
JAL JAL 22,200 61% 13,550 | 8,650
IMA=HZE JAL JAL 20,150 62% 8,250 | 11,900
JAL JAL 20,150 62% 11,900 | 8,250
IMA=TES JAL JAL 18,900 63% 8,050 | 10,850
JAL JAL 18,900 63% 10,850 | 8,050
INR=5 JAL JAL 18,950 63% 8,050 | 10,900
JAL JAL 18,950 63% 10,900 | 8,050
IMA=5 JAL JAL 20,150 62% 8,250 | 11,900
JAL JAL 20,150 62% 11,900 | 8,250
INA=FAL JAL JAL 20,500 62% 8,300 | 12,200
JAL JAL 20,500 62% 12,200 | 8,300
N =dE L JAL JAL 23,550 60% 8,850 | 14,700
LA F JAL JAL 23,550 60% 14,700 | 8,850
INA=K7 IV FE JAL JAL 22,850 60% 8,700 | 14,150
PN JAL JAL 22,850 60% 14,150 | 8,700
IMA=FI& IV FE JAL JAL 24,950 59% 8,950 | 16,000
RIGH JAL JAL 24,950 59% 16,000 | 8,950
IMR=FER IV FE JAL JAL 23,550 60% 8,850 | 14,700
REAR JAL JAL 23,550 60% 14,700 | 8,850
INA=E I IR FE JAL JAL 23,550 60% 8,850 | 14,700
G JAL JAL 23,550 60% 14,700 | 8,850
IMNA=FERE /M’A?é JAL JAL 24,950 59% 8,950 | 16,000
BERESH JAL JAL 24,950 59% 16,000 | 8,950
2 =5& B JAL JAC 17,750 59% 9,650 | 8,100
IS JAC JAL 17,750 59% 8,100 | 9,650
BERE=5H | EBEXEHR JAC JAC 12,550 53% 8,050 | 4,500
5im% JAC JAC 12,550 53% 4,500 | 8,050
BERE=1KBRI| BEXER JAC JAC 12,650 57% 8,400 | 4,250
ok BERFE JAC JAC 12,650 57% 4,250 | 8,400
iR (BB =FF PrEGH R JAL/JTA]  JAL 29,750 58% 17,150 | 12,600
EHH JAL [JAL/JTA 29,750 58% 12,600 | 17,150
HfERER) ==iR |8 () H JAL/JTA]  JAL 29,750 58% 17,300 | 12,450
ZR% JAL [JAL/JTA 29,750 58% 12,450 | 17,300
iR (FRER) =FA B GRE) R JAL/JTA]  JAL 28,800 56% 18,000 | 10,800
kA JAL [JAL/JTA 28,800 56% 10,800 | 18,000
iR (FRER) = LRz B (RER) R JAL/JTA]  JAL 28,800 51% 19,900 | 8,900
L2 3 JAL _[JAL/JTA 28,800 51% 8,900 | 19,900
iR (RER) =IlE REGRE) R JTA JAL 28,950 59% 11,200 | 17,750
=3 JAL JTA 28,950 59% 17,750 | 11,200
iR (RER) =/ ShEE (RER) R JAL/JTA]  JAL 26,200 58% 17,000 | 9,200
IV FE JAL [JAL/JTA 26,200 58% 9,200 | 17,000
iR () ==& REGRE) R JTA JAL 20,150 61% 10,800 | 9,350
=EFE JAL JTA 20,150 61% 9,350 | 10,800
iR (FRER) =L B (RER) R JTA JAC 24,300 50% 13,800 | 10,500
[ANIIE: JAC JTA 24,300 50% 10,500 | 13,800
HR(CAR)=EXXE|RR(CHA) JAL JAC 28,100 55% 15,950 | 12,150
JAL JAL 28,100 52% 10,800 | 17,300
BEREH JAC JAL 28,100 55% 12,150 | 15,950
JAL JAL 28,100 52% 17,300 | 10,800
RECHE)=E85|RECHA) % JAL JAC 28,150 55% 15,950 | 12,200
EREH JAC JAL 28,150 55% 12,200 | 15,950
JAC JAL 28,100 50% 5,200 | 22,900
RECHE) =Sz 5|RRCHA) % JAL JAC 28,850 56% 15,950 | 12,900
JAL JAC 29,400 51% 23,000 [ 6,400
meEH JAC JAL 28,850 56% 12,900 | 15,950
JAC JAL 29,400 51% 6,400 | 23,000
BFECRR) =4XxB&H | ERE CHA) JAL JAC 30,050 56% 15,950 | 14,100
K BERF JAC JAL 30,050 56% 14,100 | 15,950
JAC JAL 30,050 52% 8,450 | 21,600
RRCHAE) =5 |[ERCHE)H JAL JAC 30,300 57% 15,950 | 14,350
5w JAC JAL 30,300 57% 14,350 | 15,950
JAC JAL 30,250 54% 11,200 | 19,050

TEKE [ UAC JAC JAL 30,250 59% 4,050 | 7,150 | 19,050

KBR () =EEKXS| KR FFH) H JAC JAC 24,700 51% 12,500 | 12,200
EEPN-F. JAC JAC 24,700 51% 12,200 | 12,500
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KR (B =ERE[XKR(EM ] EERS JAC JAC 25,000 51% 12,500 | 12,500
TEXE JAL JAC 24,950 45% 19,750 | 5,200
ERER BERE JAC JAC 25,000 51% 12,500 | 12,500
TEXE JAC JAL 24,950 45% 5,200 | 19,750
AR () =EZ B[ XKREM X ERS JAC JAC 25,700 52% 12,500 | 13,200
EZER BERS JAC JAC 25,700 52% 13,200 | 12,500
TEXE JAC JAL 26,250 47% 6,400 | 19,850
KB () =k RE| ARFHHE| BER JAC JAC 26,700 53% 12,500 | 14,200
KRR | EREE JAC JAC 26,700 53% 14,200 | 12,500
K (B =5% [KIR(ERDE] ERE JAC JAC 26,950 53% 12,500 | 14,450
5% BERS JAC JAC 26,950 53% 14,450 | 12,500
RE=EXXE fEmES ERE JAC JAC 19,700 53% 7,600 | 12,100
TEXER | ERE JAC JAC 19,700 53% 12,100 | 7,600
RE=ER5 FERES ERE JAC JAC 20,600 52% 7,600 | 13,000
TEXE JAC JAC 20,600 50% 16,450 | 4,150
ERER BERE JAC JAC 20,600 52% 13,000 | 7,600
RE=Ez5 EERES ERE JAC JAC 20,700 54% 7,600 | 13,100
TEXE JAC JAC 20,700 54% 15,350 | 5,350
BB BERS JAC JAC 20,700 54% 13,100 | 7,600
TEXE JAC JAC 20,700 54% 5,350 | 15,350
fakE =k RED FEmES ERE JAC JAC 21,700 55% 7,600 | 14,100
HKRERE | EREE JAC JAC 21,700 55% 14,100 | 7,600
TEXE JAC JAC 21,700 56% 7,000 | 14,700
&k =55m FEmES ERE JAC JAC 21,950 56% 7,600 | 14,350
5% BEAE JAC JAC 21,950 58% 7,950 | 14,000




